SMe
=N
_‘ N

=T L~ T dp A % 383 =

p 2112 # 030 12p (28 P)
:'i":EF‘?F'W'%F- 112#03% 12p (ErﬂFE') 2206030 R ®BRF S IF o
a0

b 06 1 40 HIB R Hosk v g
__F—iO7:OO7’i":,\.%ﬁ,é —%)_32],]«1113‘1:]1)%

FE07:00 R REE- ROF
+=07:00 Apitw ﬁiﬁw%ﬁkﬁ oA
FEOT 30 B38 A ek250 0o g

T
24

o e DT dpd g~ e dp4 »AFR1062M 0 - = &8 AL FE 0 AR frrvmiw‘b’rﬁ‘ﬁ*dé B 22 0%
Aﬁi L ﬂlvc&rv dam BB TR ET 0 5 T AR 2 AFRF L2 0 BERLE
b FE o
P AR620M RATARAT R LTEREY oML F AP AR P I RAT S AEGR
iii":'é}}?f‘ﬁ_é\.lr‘" » Hig b0 o

o% Lidpth:

AR AR d 29 g3 i :".’? CFREXAFE LT IRFELHEALLFE P RFEE R - MARYE )
Rip Bt > TEREJER 2 L g £ AR _L"’kj_r;fﬁi'zb"ﬁlﬁ(’l‘a wE)TR BT U_}_f ;#ﬂi'_e»'*}sﬁ(’h
r?w;)’iﬂ’ﬁiﬁ.-: HBET "Jﬂﬁwﬁw w LB ERRL 2R GMK HFH3 (T REL) 05402

A H130M > ¥R & oo B E S gb”a“fi"“sﬂ°
A48 ¢ éﬂﬁ»ﬂfrA/ﬁ‘hﬁ#BPﬁ P - MR Rap i o 1Y a‘édé’\ BT “"(/“?ﬁr’ﬁ"ﬁxﬁi’iwﬂz’ﬁ‘) IERZEFI L
AP fpd )dpR-R A= B (E-RRDE > BRE ﬁ*@wﬁgﬁbmaa#ﬂ% &aiﬂdé" W ’4}\ Bor TR R R
o wPL I TEARGRESLS D 2R K HFHLRE(E RL)0AASE  FANL00M 0 ¥R = & 0 BT X
B RE MR AR o
Birfz : mBfrAff24p e > 2 T 3L (P FpM )PpR-RL-= R (&-KR)S - FFEE L4p8 ~ [ 3% > B g 18
Bho- BRPEFT (L 2)4pBm AR A 7T B LIRSS Tt = I BRI RISy g Ty

B3 104 480 5T B o ﬁrrﬁéwﬂﬁﬁ i F LT Az AEERETIE IR AT 2R (8K
CHTFHE (T RA-EFEE) 0 A K800M 0 B - &0 B0 & B gL A o
opEfE Ay !

A 747 0 06304k v 2—0640% H22b—>07007 3% ~ A 2b—0730 X Brb—> 4R inig T—09302 2 ¢ i d 37 2 > 0%
BRI R - F%&%lOOOéf;? 1;\—>1005§§‘; B —10254&F & L g —>1045— A= ~dp R—] ik—
1100@&»’14&191120 EPRIE umg(%a BB BT (% 7)—>1200% 3 # (3 T )—>1200% B ] tho
1300w 3|2 2 g =R (FHH-PpE-F KR)—>pd 2H-ZFEAFHE £—>1500%2 35-§ & (G54 &)
—1520 ﬁ—>1600r1122m*€ R omAp (32, 51{)1;.ch #1BFAE € £ —1730 ﬁ—>1830%%‘(@ﬁ%)—>2000\
Bx—2030AH4 ~ T R~ BET - HRU b

A7 421 06304k v 2:—00640/& 5z2L—07007 "% ~ A4 2b—0730% B 2b— 5 R i iﬁ"—>0930i PFiRE ST A >R
Bim R LR R A - fa%a‘;%—>0950§r§%tﬂ%%;‘—>0955§—é}§f—>1015/jmﬂ€ % L i —>1035- fsm ~3 B—>10457
g B (2R R S R uz;w' PR FB)>11304 MM E (S48 @ Jpdedn) = 711 ¢ 4p 8
—1200¢ 3 (HI061M)—4p PB—= %& (F# M- p - -k R)—12304 7 -w R B 4E 509 i —1300 & 454 (H1057M
)—3p Be—13304%35 %% (H1019M)—4p FB—1345 = 5 L) Ba(+ T L% i 32 )—> 14207 k48 55— | ix—1500% 3]
5 F—>1520+ & (et #)—>16007 122843 K 5427 (32.5K) % & Biasz ¢ £—1730+ & —18309t% (&
# £ )—2000 \a-,»,é—>2030ﬂxﬁ% 1’3;’: ok TR S
Bi7 42 : 06304k v #:—00640/& zxk—07007 "% ~ A4 2b—0730% B 2b— 5 R i iﬁ"—>0930i PFiRd YT B >N
i SR e g,?iiﬂ BN f”#&—>0945§r;%k ‘%;\—>0950f§ + B—=10105&F % »'rﬂhé—>1030 A= :}ﬂ PE—1043"
TR Br (LR B L R LS f s )10 RS E (a4 P fpBIn) L 7Lv #ﬁdé
—12007 45% (HIO6IM)-dp e —= & (Fdf-p 2-& -Kih)—>1230F = 7 -F b g (LE &3p% ~ ] dp%
0 )—1250& % 4p % (H1045M)—4p Be—1310-] 45 %% —4p B (HO9OM—3¢ = 2 —FF 4ot 28 ™ 4R H g il 4o | i
TR s BT )—>1500P F 4 —>1545-643%% L7 2—1600_"+ > L (H620M)-4p FB—165% #& v (JL+ "4 T )—
1700 F 22— 3 2B 7 Lo (2 7-H435MA £ F B )—>1T15 =R 2 ¢ —1T20% f 5 AQF - 22 B @A E &
—1730+ 2 18308 % (& # & )—2000X B x—2030 A ~ T %% ~ BHo ~ Rv b
o LIl FRAFBAARGT G PEFRLAFFRA LAEEAFLL 2 -
2 Bhﬁ—vp FEMEIRZ F S E G
WE R L F r]:v:ﬂ PES ajc v F S AT R R R O AR L F305p (A p)E AR
WLk FRE cHF LTI 2 R ETAGRE EE AL LR (X))
r;&i’&f'
.Qggl,;; LA
B I ¢ ﬁ 900m € 51000~-22 F 3008742208 FRp x> B (FFdH-p2) HEARHE)

Nl:‘»’\%"ﬁ JH& A2 S FYRIRNE IR VR F R FRES SR BAER SBEAARCET FEE) AR
ﬂBrﬁﬁi/P?ﬁufiéﬁiﬁ AR iFfvy 57868 o
o EoopE 22T HER s FREE 5‘331?5 ~ KT . ARM T X B2

oFBAR L L AFER b’“r%‘&f'?-f'?—ﬁ»#ﬁ te
- X % . ., —_ 2 32
PEARLERE oA SR



